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Time Value of Money Questions – a mix of  PV, FV and interest rate questions
Calculate the underlying rate if $1,950 invested today yields $2,667 after three years.

11.0 %

Compute the underlying rate of return on an investment if $1,830 invested today yields $2,111 in two years.

7.4%

Bonnie Deep plans to buy a piano and can afford  to set aside $1,610 toward the purchase today.  If the annual interest rate is 8.9%, how much can Bonnie Deep spend in four years on the purchase?

$2,264

What is the future value of $1,380 invested at 13.8% for three years?

$2,034

If the future value of $1,400 invested today is $2,179 in four years, what is the underlying interest rate?

11.7%

Compute the underlying rate of return on an investment if $910 invested today yields $1,103 in two years.

10.1%

If the discount rate is 7.2%, find the future value of $520 invested for one year?

$557

Calculate the underlying rate if $1,430 invested today yields $2,315 after four years.

12.8%

Compute the underlying rate of return on an investment if $580 invested today yields $748 in two years.

13.6%

If an investment at rate 14.1% pays you $2,005 after two years, what is its present value?

$1540

What is the future value of $1,000 invested at 7.6% for four years?

$1340

Annette Bagley plans to buy a antique lamp set for $871 after one year.  If the annual interest rate is 10.3%, how much money should Annette Bagley set aside today for the purchase?

$790

Calculate the future value of $710 invested at 8.5% for one year?

$770

Jill Peck plans to buy a piano and can afford  to set aside $1,030 toward the purchase today.  If the annual interest rate is 6.8%, how much can Jill Peck spend in two years on the purchase?

$1175

If the future value of $1,810 invested for three years is $2,199, what is the underlying discount rate?

6.7%

